% emYU7H?

-

mjm

~

6.cm
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(BtAE°] 3emel 99 Wol)
: 3x 3% 3.14 = 28.26( cm?)
(Aol 4em<] L] Hel)
© 2% 2x 3.14 = 12.56( cm?)
25 1

28.26 +12.56 =225 =2— =

100 QZ(BH)
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KA 52] 2015 acmet 519
AXAX3.14 =785
AXA=T785+3.14
AXA =25
A =5(cm)

(A59] Zol)=5x2=10(cm)
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» E: cm?

> HEHD 28.26cm?

B \
(¥ @9 §tx]529 do])

=31.4+3.14+2=5(cm)

(¥ @9 HHxF2 dol)

=25.12+3.14+2 =4(cm)

(2 @2t 9 @2 Heolel A

=5x5x%x3.14-4x4x%x3.14

= 78.5 — 50.24 = 28.26( cm?)
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24 Wol)
(AAZFR 9] wol)+ (A2 o sl o] )xd+( 0] Hol)
=(4x4)+(2x4%x4)+ (2x2x3.14)

16 + 32 + 12.56

60.56( cm?)

A 2Hol go))

(1A Hol)~(8e] Hol)x4

= 60.56 — (2x2x3.14 x 4)

= 60.56 — 50.24

= 10.32(cm?)

—~
(

==

=

o2

>
1=




